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Relationship brightnessB*  and luminanceLt as function R
of tristimulus value Y7 for the adaptation luminancelL ;=300 cd/m’

Relationship brightnessB* 1 and luminanceLt as function )
of tristimulus value Y7 for the adaptation luminancel ;=300 cd/m’
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Relationship brightnessB*  and luminanceLt as function R
of tristimulus value Y7 for the adaptation luminancel ;=200 cd/m’

Relationship brightnessB* 1 and luminanceLt as function )
of tristimulus value Y7 for the adaptation luminancelL ;=200 cd/m’
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Relationship brightnessB*,; and luminanceLt as function Relationship brightnessB*, and luminanceLt as function Relationship brightnessB*,; and luminanceLt as function Relationship brightnessB*, and luminanceLt as function c 8
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Relationship brightnessB* ; and luminanceLt as function Relationship brightnessB* ; and luminanceLt as function Relationship brightnessB* ; and luminanceLt as function Relationship brightnessB* ; and luminanceLt as function 0
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TUB-test chart hes9; HAULAB, scaling of achromatic colours in white surround of 180 degree)
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